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Examining Number Sentences (2 Digit) Name:
Deter mine which number sentence (or sentences) are correct. Answers
1) A.98=98 2) A.48<84 3 A.41=41 4 A.73>71
B. 98 < 98 B. 84-4 > 48-7 B.14< 14 B. 73> 37 L
C.98=289 C.84=84 C.41<14 C. 3749 > 37+5 ,
D.89 =08 D. 84-4 > 84-7 D.41=14 D.73+9>73+5 ||
3.
4.
5 A.91<89 6) A.21<21 7) A.385<83+7 8 A.20=092
B. 89> 98 B. 21> 23 B. 83-5< 83+7 B.92>01 >
C.89<98 C.12<12 C.83-5>38+7 C.29>92 6
D. 89> 98 D.22>21 D.38> 40 D.92-6<92+8 ||
7.
8.
9 A.9>96 100 A.17=71 11) A.23>21 12) A, 7244 >27-8
B. 96-5 > 69+1 B.17> 15 B.23< 32 B.72=72 o
C. 96 < 69 C.71-3> 17+7 C.63<86 C.27+4 > 27-8 0
D. 69> 96 D.17<71 D. 32+1 > 32-1 D.72<72 '
11.
12.
13) A.16+7<61+7 14 A.59>61 15) A.42<42 16) A.68>66
B.16=61 B.50< 95 B.42> 44 B.86 =68 3
C.22< 88 C.57<59 C. 24+5<42-3 C. 86> 068 14
D.16<61 D.59 =159 D.62< 67 D. 86-4 > 68+1 '
15.
16.
17) A.12+9>12+6 18) A.48>50 19) A.71+3>17-2200 A.72<27
B.21+9 > 12+6 B.84-7<84+4  B.71<71 B.72> 27 1.
C.21<23 C. 84-7 > 48+4 C.99<91 C.72+7>7242 ||
D.20<21 D. 48-7 < 48+4 D. 18> 17 D.27+7<72+2 ||
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Examining Number Sentences (2 Digit) Name: Answer Key
Deter mine which number sentence (or sentences) are correct. Answers
1) A.98=98 2) A.48<84 3 A.41=41 4 A.73>71 A
B.98< 98 B.84-4 > 48-7 B.14< 14 B.73>37 L
C.98=289 C.84=284 C.41<14 C.37+9>37+5 || . & ¢ b
D. 89 =98 D. 84-4 > 84-7 D.41=14 D.73+9>73+5 || © —
3. A
4. A,B,C,D
5 A.91<89 6) A.21<21 7) A.385<83+7 8 A.20=092 C
B.89> 98 B.21>23 B.83-5< 83+7 B.92>091 >
C.89<98 C.12<12 C.83-5>38+7 C.29>92 6 D
D.89>98 D.22>21 D. 38> 40 D.92-6<92+8 ||
7. A,B,C
8. B,D
9 A.96>96 10) A.17=71 11) A.23>21 12) A.72+4>27-8 B
B. 96-5> 69+1 B.17>15 B.23<32 B.72=72 o
C. 96 < 69 C.71-3> 17+7 C.63<86 C21+4>278 | B C. D
D. 69> 96 D.17<71 D.32+1>32-1 D.72<72 ' —
11. A,B,C,D
2. A,B,C
13) A.16+7<61+7 14 A.59>61 15) A.42<42 16) A.68>66 A CD
B.16=61 B.59< 95 B.42>44 B.86 =68 B
C.22< 88 C.57<59 C. 24+5<42-3 C. 86> 68 s B.C.D
D. 16 < 61 D. 59 = 59 D. 62 < 67 D.86-4>68+1 | —
15. C y D
6. A,C,D
17) A.12+9>12+6 18) A.48>50 19) A.71+3>17-2200 A.72<27 A B CD
B.21+9 > 12+6 B.84-7<84+4  B.71<71 B.72> 27 pAEEAR AR
C.21<23 C. 84-7 > 48+4 C.99<91 C.7247>7242(| = B C D
D.20<21 D. 48-7 < 48+4 D. 18> 17 D.27+7<72+2 ||
10, A,D
20. B y C y D
1-10 195(90(85|80| 7570|6560 |55 |50
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